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ACIO-II/Exe Examination-2017 (Tier-l)
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w1 |

. The written examination contains 100 objective type multiple choice questions. TaT&a Tfem & 100

aEgfrseweA e |

. Each question is followed by 4 options, (A), (B), (C) and (D). Only one option is the comect answer which
should be marked by biue ball pen only on the OMR sheet provided separately. 87 73 & a1 e (A),

(B), (C) @ (D) ¥ | 3+ & s v R ft o 3o &, o Avmmgem A AR T awda & @
geffem & |
: msmgaﬁwmmmmmmaﬂueammm.mﬂaamﬁwmmmm:
: 'I'nequesﬁmsandanswshavebaenmhtedhfrgﬁshaﬁm.hmdwm_h
English version shall prevail TS 73 @ S oy @ Ryt Rt e ) et v & Ry
o st FraRoTd AT T
. Hindi version of questions on English language and certain numencal have not been given. J{dir s
mwmmﬁﬂmmaﬁﬁmmh
o swers | sheet by using comection fiuid or rubbing or erasing or smudging is not
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1 The average price of 80 mobile phones is Rs.30,000. If the

mobile phones are sold out then the average price of remaining

29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price

80 aTEE W P AT T T 30,000 & AR ARG AT A oA B A

ot & oY 9y 78 WS WA 1 AdEn geu W 29,500 B SR

gﬂ‘mﬁaﬁaﬁwﬁmmﬂ | ~ow g w RS @1
7

T
k1

|

s. 18000 (8) Rs. 15000
(D) Can't be determined/Pif¥aa =8 &< BT

2. InaCamp&nytheaVerageinmmeofaHﬂwemﬂoyeesisRs.mwm
Recently the company announced increment of Rs. 2000 per month for all the g
The new average income of all the employees is?/ T& 51 & #d Faanea 5 e 3
R HET 20000 & | BT & § SO A ® 2000 T e B I T SAACD 0 .
ﬁ#aﬁju‘f&wrﬁl? | T HHEfat & 52 afftwa am &

| % (B) Rs.24000 (C) Rs.28000 (D) Rs. 26000

3. 8 Pranav went to the bank at the speed of 60 km/h while returming for his home he

covered the half of the distance at the speed of 10 km/h, but suddeniy he realised that he

was getting late so he increased the speed and reached the home by covering rest half of

the distance at the speed of 30 km/h. The average speed of the Pranav in the whole

length of joumney is? ¥v1d #% s0 el /de @ we ® T @1 B W T F 9 99
afi o/ g e R s S 8w s @ o5 550
W g iR ol M g @ w20 R/ A TR A T T | W wE w | g0
arar 4 g @ afrea wia g o6

@_.24 km/h/24 it wfty we (B) 14 km/h/14 S0 of® g
(C) 16 km/h/16 f@#. ufd wer (D) 10 km/h/10 0 5@
i 4. Theaveragauxpandﬂumnfur.Shmhmm”bh-ihm“m

spent Rs. 1200 in January and Rs.1500 in July. The average expenditure for the
ufFebmarythulyis?Wﬁﬂmm#qﬂﬁmmﬂimgmqm

sread # ok 1500 g A = Fwn ) A | GO 0% F W0 = dew w2

(A) Rs. 2750 (B) Rs. 3250 R @ re

g At the end of a business conference the ten pecple present

each other once. How many handshakes will there be altogether? *H‘!:
' ¥ gufer Wl 10 2RE TH TR A @ W B BER £

Fov e e
(A) 20 @ﬂ 45 (C) 55. . X

6. The average presence of students of a class in a Colle
w,dnasdayhﬂzmmh'ﬁm, ursday, Frie
anﬁuﬂ%ﬂxmﬂhﬂ”h'l:"



¥, ] ?
LEET 'Wan e .
{ﬂ} 50 :nl * i“ ‘FT'{JT I'l'lll L | '|'|t.|||4 ) 0w R ‘FiT: "I{m i ﬁ:";{
(B} SHATR 1 e o e oy are) faenforay o wem gap?
7. SUfESh 40 N " .
then, the gam. - arted p; . * (D) 70

Me d 'S jour by
he returnegd fromlstan{:& h rar\ﬁ? from P to Q by his bike at the speed of 40 km/h and
P IS: [ g R 10 P yia o Slled on his foot at the speed of 10 km/h from Q to R. Then
f TP Q 8t the speed of 24 km/h, The average speed of the whole

oY 9415 = . 3 p
Q 2 ;51 a8 11(1'71 1 I—_r Ilﬁ '_ HYH] 'J;'.'-']-.-"I 40 & uieT wre wm mMa | & HIHI 2 3w
P, ? YT 24 fady ufy B wer @ oy B Qo Reapmawwn e | R=ag R 9

PRAT & | T g o airaa e 2
98kmm () 182 Kkmh G 19.2 kmh

whose avera € speed wakm 0 reach the station from his house, then he boarded a train

ook 2 total time of 3 oy (©, KM and thus he reached his destination. In this way he

the average speed of walk?' If. ﬂ_‘e average speed of the entire journey was 32 km/h then

B R T s 5 4 ug NG IS X591 o R W WA 7% 9gae @ iy 6 fall, Sew wemen

I % UE" wray & VI & R ST TG 60 fall, ufey ey & ok 98 Wl T

sirem TR 32 fre lﬁmﬂaﬁ@gﬂnaaeﬁzwwaﬁ%|Hﬁ{ﬁwzﬁwﬁf
I T R A e e s i o

(A)  5km/h (B)_ 8 km/ (C) 2kmih € 4 kmh

9. Bala travels first one-third of the total distance at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one — third distance at the s eed
of 60 km/h. What is the average speed of Bala? @@ amm @ el g B TH 10
e ufa =er @ 7fa F iR amreh vo R 38 20 foefl. wfe wer @ f @ ol R uE
foers 60 fbedt. ufty ver & o | 99 wwar & | @@ A oftwa afy = &7

€ 1skmh  (®) 19kmh (C) 16kmh (D) 12kmh

i chool and house of Suresh is 80 km. One day he was late by

‘]IB tliour -L?:ndtﬁga:gﬁ;ﬂt};;s to leave for the college, so he increased his speed by 4km!l‘}

and thus he reached to college at the normal time. What is the changed speed of Suresh?

& Pena 2R B @ a9 @ g0 80 . & | v A 9w fenaw 9 @ fae W e

& uep Hel qie A1 A I AT AR 4 A 9f 6T A R | a9 AW W
RS A v XY o TE9 | G ) aaeh g R o

e g |44
o 3 @) 25kmh © 70kmh @) 24kmh

(A) - 28 km/h | .
km/h and reaches college 4 minutes late, Next time she

20 ;
11.  Anita goes to College s college 2 minutes earlier than the scheduled time. What
goes af 25 kmvh and reaches hm‘-’%m e 20 fah, 5 e A TR A e 4 P 3
hmfmn@o:ﬂhggﬁﬁiwamﬁmﬁwmmw@zmﬁw:_
Isqm [ ana“ LT 5 3 " _ , g &
P (8) 12km _ : . f
(A) | 1§m. - : <o

3P . o

i
AN




12 Two places R and S are 800 km apart from each other, Two persons start from i
towards S at an interval of 2 hours, Whereas A leaves R for § before B. The speeds of

and B are 40 km/h and 60 km/h respectivaly, B overtakes A at M, which is on .“,19 wa:"'.fmg
R 1o S What is the ratio of time taken by A and B to meel at M? & v R T SR Pi

W00 M gu @ @R R O 8 ol ae ana @ AT @ HE B o o o B h,L
i A S O uedt R o e e # A afte B ar &1 T HHEE 40 3N 60 f‘]:‘ln. atd '*:-rfﬂ
1B, Mue A 9 s s M e iy RASSE URTgv g | MW fer=1 & i-f-"[T: A '}m

i

B e arqurer i g @ #° |

13 Two places R and S are 800 km apart from each other. Two persons start from R
towards S at an interval of 2 hours, Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
R to S. What is the distance from R, where B overtakes A? @1 w1 R 3R S U% g8 ﬂ

| wafs A, R @

800 T qx ¥ | @) wiflr R 94 8 ot air & w2 & 3iovd § g wea &

g, 8 & B & ferg et & ugal Fraserr 21 A 3iR B 9190 4 wfy swer 40 3% 60 fHL
JUET R B, M 9vA A A Prarer e &, o P RO S % I ;e & | o8l W) B, A9 3T

et oren @, aw R 9 e g9 Uy 87
(A) 260 km (B) 235 km @& 240 km (D) 300 km

14. Ajay covers certain distance with his own speed but when he reduces his speed by
10km/h, his time duration for the journey increases by 40 hours while if, he increases his
speed by 5 km/h from his original speed, he takes 10 hours less than the original time
taken. Find the distance covered by him. /s v fif¥am &t aoeh fe &4 o9 Fvar 8 W®
orq a8 g Ry # 10 R s ver @ w aren @ o Sud aEn @ wEaE 40 5 g9 S

, orafls af¥ ag orft 1y B o W Y @ 5 R sder ger R @@ 9 el He wwa
W 10 ©el ®H dar 8| SUd g1 99 @ 13 g8 g’ T
(A) 1000 km fa (B) 1200 km fa @3/560 km f&f1 (D) 1800 km o+t

15,  The driver of an ambulance sees a bus 40 m ahead of him, after 20 seconds, the bus
is 60 meter behind. If the speed of the ambulance is 30 km/h (f&#1 / 521), what is the speed
of the bus? U@ Uqeiy @1 ATeid AU 3T O & a9 B 40 e 3N S@AnN 8, 20 Yhe B q<

wmwﬂlﬂ%?Mhﬁﬁﬁaﬂnﬁm%ﬁ/ﬁaa?ﬁwaﬁﬁm?
@A) 10kmh @B A2kmn (C) 15kmh (D) 22kmih

16. * Two rabbits start running towards each other, one frulp A to B and another from B
to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hour before
speed

it reaches A. If the distance between A and B is 50 km, what is the

the second rabb
lower rabbit? & wwmy UH TER # IR &S W ¥ 6 AW B A 3R oik gEw B 9
pares UR FRA & @R TEe WY B %, AW

3R | a8 A TP IR B Y@ U AwE
A 4 /6 tier TR v &1 % A ol B  dg, 2 0 50 R & < e ey

(C) 15km/h (D) 25 km/h

mzokmm (B) 10 km/h

iy

pkirh 4



i 5
ng part KMVh for cort;
Jgﬂ:r?ey' What part ::: jlh . "r"“rnut;"tr[ ::-Ell:ll:: i”.]:l-“‘-[ the journey and then he took an auto for
| ey be 17 km/ho Gu'ﬁﬁy dig | i 3 L: at 25 km/h. If he ook 10 hours for the entire
N e - q 3 : ‘ aulo ;
8 3% T8 9y 2 ut:” (T 1'1"’ 1”:;";: led by auto if the average speed of the entire
CIE o I:.:H: 28 v ' T 91T " 8 1;}.;“ ufty ster o nf N frea e
x u_[miﬁm‘h .1:4_1;1 Her @ nfy | s aife) fraen @on 8 af® a8 g§
- w1 [T W I+ aftey fPaen & oy e, ute ELU’I e o

TET &7
(A) 75
T / 150 km (D) 200 km
& 112,72, 41,87, 214
1
9 (B) 35 @ ) 22 D) 26
9. 14,2,13,175, 2178 k
(A) 10
@ A2 (C) 128 (D) 13.25
20. 15,5,45,58, 79, 7
(A) 96 :
(B) 11.42 ) 1223 @) 074
21. i i :
¢ Find the sum of first 30 Natural numbers WeIH 30 HTdd Teemait @1 AT aagq’
(A) 470 (B) 468 @"74@5 (D) 463 L
22. 56% of Y is 182. What 182 Y$@\_$°fu 182 & | 2y a1 87
- ™ LS \
(A) 350 (B) Slyw o 4% 325 g (D) 330
P T o g

i \ )
23.  Which of the following two ratios is greater 17:18 and 10:117? 2T STl 1718 3R
10111 ¥ | B g7 &7 .

17/18
(C) Both are same &l U6 & & (D)

24.  In a palace, supplies are available for 35 days for only 75 people. 15 Guests arrive
in the palace for vacation on day 1 itself. For how many days will these supplies be
sufficient for all these people? T& R TR Hae 75 ftadl & e 85 st a@ smgfd Suee

o fore, UEa R & 15 off o oma & | e el & forg e agfd

2| 9w wre W gfeed @ oy,
o <l aufei @ forg Tt ¥E? Ats> 29 deug$
11.25 days &= (C) 42days A (D) 22.5 days f&+

(A) 90 days f&1 (B)

(B) 10/11 %
Cannot determine fif¥ & =€t wr W&

ce between Compound Interest & Simple Interest on a certain sum of
rzrft;na Iioc'l‘lf;ar;; @ 5% p.a. is Rs.122. Find the sum? Hﬁ 31 gut @ fou, we fAREd
4 : aﬁiwmzﬁﬁ‘mﬁrmﬁmt?ﬁmﬁtmm;

g W 5%

TG _

(A) Rs.14000 (B) Rs. 15000
A’M "'aﬁ"q: er) ?00
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26. 2017 India-ASEAN Youth §

5 ummit was hald from 14en o 4gy, ,
14 1 19 ST 2017 W Wien -'41T|'HJ|].1 rlr“ e o 1 'ﬂ“ﬂ'mn f’mlim qgtunu.t' 2017 in:
(A)  New Delhi i el (8) Mumbal il hopal iy (D) Chennai ter

27.  Under project ‘Navikea Sagar Parikrama’, which Will commance in September 2017,
a team of women officers of the Indian Navy would cirtumnavigate the globe on an Indian-
it A gy @ st Bl ofy wfden

Puirt sail boat named: MY 2017 o sy
SvaTfRa o ww A A v B et o) da, P T Ay o @ B

(A) INSV Durga gt (B) INSV Sindhy feg  (C) INSV Amba sy @ INSV Tarini znfed

_23- C?n August 18, 2017, which Asian country launched its first cyber court spwiam
In handling Internet-related cases? 1a ame, 2017 @, fw uftrard 2w A e Had

B G B A0 A Ul W g s far 87
A) Japan Giar @)hina M4 (C) South Korea &l @f¥ar (D)Thailand aréds

29.  On August 18, 2017, Power Grid Corporation announced that it will get a loan of
$500 million from jﬂﬁlch international financial institution for its various projects? 18 37T,
2017 & yrew firs A b afedy fae wwend 9 e fafs ofdarst @ fag 500
R EreR &1 v A= @) w992

@Asian Development Bank ufir Saaie e (B) World Bank fasa &%
(C) Intemational Monetary Fund sidisi 521 & (D) New Development Bank =) Saeiyie 4%

Who among the following cricketer has continued to be the world's top-ranked One-
s, released in Dubai on August 18, 20177 18

30.
day batsman in the latest ICC ODI ranki
AT, 2017 H1 # i AdEem g 9@ @ v e adusia e d e H | F
fde facrs W Y 4] g3 87

Virat Kohli  fawre @iedli (B) DavidWarner 3fd a¥FR
(C) AB De Villiers 7 1 f& fafem (D)  Joe Root W HE

Who among the following has won a silver medal in the javelin throw at the first World
;;mmm:m .k:tglnr cmpmlshipavﬁnﬂottwﬂ Switzertand? efie, Raeorere # & weel
e 1 o sy AERI 9 e e e A SR Yo W o ?

=1

‘Requisitioning & Acquisition




v e

oD SaAs

K} Shahjahan TEwE

Setting up of the Indian Institute of Petroleum and Energy in

was nt Eﬁig
F‘T#_Tmam &ﬂum N the Lok Sabha on July 18, 2017. < -~ Eﬂ”ﬁﬁm
= MO R at werE, % wnfen o @ R wEgE
Q) Punjab TaTg -
ﬂ 1 (B) Haryana &Ran
elangana s : -
o OAndnra Pradesh s w2

The best e f ' ' G}
P & T U r!'?'r' - - . %
L 1P RYga 2R 71 w4 T91 IEOT £

Kiwt &1 ? ol
N g \..@ Dodo srat
Bl Przewalski's horse waereas wrel (D) Bustard TS
8 Which of following utilises sunlight in a direct fashion? = # & 71 44 & woTd @1
;| AT FE A T F gy 7, ¢
Photo voltaic cell uowafiad@ (B) Solar thermal cells #R &o7 &
€ Bio gas production 3T %% wwmEs (D) BothA&B=THI A&B
% In ‘lnternret‘ term WWWW, the 4™ W stands for 3ev-ic I=Eal. 8 WWWW, 5 SRIW 9
o a9d 87
Al Web @ Worm (C) Wreck (D) Visjk

@ IPv6 addresses have asizeof:  IPvB el & 9T =
@) 64 bits 128 bits  (C) 256 bits (D) 512 bits
®  The Constitution of India recognises: ¥rRdia df¥em= argar <ar &
W  Only religious minorities #a S SreT¥erH! I
8l  Only linguistic minorities Fad ‘ﬂﬁ‘rﬁ TS B
__Religious and Linguistic minorities =i oy it seaeraat 1
Religious, Linguistic & Ethnic minorities e, Wifts 3y i sreaserst o

h During which of the following Mughal Emperor’s rule, number of Hind
g whicC _ : us employed

e g s feget & o R T

(B) _Akbar 3Fav
» Humayun g Aurangzeb 3R

| ot - < 8
8 Tho wansonian sy, “4iesd 1 Aoy wos brrved fom,

e (B) Turkey 9#i
ox (D) Persia afifar

ﬁ-‘.'_"_"




Who among the following s said to have ﬁ!ln?mnml the reigns :ﬂ aight Delhi
Sultans? fss & & M) Moch @ e gonorell o) ETT0 BT W e oo B

(B) Shams-I-Siraj Afif st & frara st
énmlr Khusrau sy oo

1]

(A) Ziauddin Baran! Py qed
(C) Minhaj-us-Sira) fmero- oty

42. The President of India referrad the Ayodhya issue 1o the Supreme Court under
Which Article? seer @ wregafyy & s frarg @) f60 Sgede @ sferefer sreefrg g W A

WO gy ?
@ 143 (B) 132 (C) 138 (D) 136

43, Right to privacy as a Fundamental Right is implied in "wfaren &1 sifren v Afére
sfyw @ wy ¥ aef 2w B
(A) . Right to Freedom ¥ w1 sifirew

AB)  Right to Life & Personal Liberty oftasr aftv Pt vanfisren @1 afrem

(C)  Right to Equality wsriery w1 i _

(D)  Right against Exploitation wiwvr & fawae e

44.  The interval between two sessions of parliament must not exceed ¥z % =1 w4t #

#ra &1 siave 369 3@ T8 g ey ?

(A) 3 months = @ 6months 515 (C) 4months I8 (D) 100 days f&=

45.  With reference to inflation in India, which of the following statements is correct?

R H ETEHIf @ Hed A Frefafan suet § @ @9 W eua a8 8y

(A)  Controlling the inflation in India is the responsibility of the Government of India only
ae H g1 vl P o awa wwew @ g g 0

(B) The Reserve Bank of India has no role in controlling the inflation Rord &% aifw
e A qar il @ FPrafye wv B ufte T8 &

L@ ' Decreased money circulation helps in controlling the inflation wear qaT HY,

qETRIf @ Frafya s 8
(D) Increased money circulation helps in controlling the inflation @gar wHaT Hemoy
grreifa @1 fafae @ 8
46.  Which of the following brings ou_t the 'Consumer Price Index Number for Industrial
Workers'? =1 # 9 @i 'siteifis sfiat & o awdiear 900 ymaie’ o 2 2

(A) The Reserve Bank of India wid @& aifw gfga
The Department of Economic Affairs anfii& srai &1 faamr

; % | The Labour Bureau #fi@ =31

The Department of Personnel and Training ®iffa va af¥mmr fawm

(D)
47. ‘Golden Revolution' is related to %vi F1fey wHafee #
(A) Precious minerals Jg af ( Pulses ard
: Horticulture arar

(C) Jute S[c




5L Find the minimum 1

: A country is sa;
# lrtm:mabmﬁnmmmaMuapﬂwﬁﬂﬁmﬁmﬁmmGﬁmtuﬁ
e
W _PE dadiehm gmb;;:.he conditionalities imposed by the International Monetary Fund
ﬁ “"aﬂtobonuwmﬂmw“ﬁﬂﬁ“ﬁﬁ*%vmt .
bl i ahf;mgk:xtemst payments on outstanding loans T& T
m . Q

The Worl it 7
p fava &= :?Uamf‘:k chafqes a very high rate of interest on outstanding & new loans

TP Fvit gy qga SA T 9N Ao Fgern &

8  With respect to GST, consider following statements GST & i # et il o R aR

Reduces cascading effect zigs yaa 31 &% o & |

Is a comprehensive indirect tax 7E T I @S FE |

Aimed at forging a2 common domestic market 313 g, AR # TR B T a9 8
Alcohol and petroleum are exempted from GST #few 3ik 4ge #1 GST # ¥E W 8

A 1,2, 3correct ¥81 2 (Bl 2 3cormect e &
i) 2, 3,4 correct wé 2 All the above are comect ¥ #&! &

BwN

% India’s cumrent account defict in Balance of Trade is mainly due to ¥WR® & IR
aua o Prafa 3 5 700 #1 I | o9 FE U B 5 IR R

(a) Increasing imports of oil and petroleum #= 3w AgifdTm & s A fy
{b) Increasing imports of gold and silver 1= X =12} & aram A i

(¢) Increasing imports of food grains @@ A & W W 3G

g imports of iron and steel #E 3T Tv@ @ smUw A Iy

(d) Increasin
| _ (a), (b) and (c) (B) (a)and(c)
é" E:;a(n;?b] (D) (a)and (d)

umber of straight lines required to make the given figure.




iminals.
m’:;-qm

the relat hip among
Which of the following figures best dﬂﬂm_ ationship :
thieves and judges? w1 fers) & @ svrfora, W A wpmfiet o @ w Haw

fory wdawe fafio s &7

Co-a wau
© ©° U0 <

52

-

fip)
(A) a B & © ¢ ©)  d
53. Find the number of triangles in the given figure.

mﬁqm?@ﬁaﬁﬁ‘zﬁvﬁﬁmm?

(A) 18 (B) 20 @ 24 2 R
Of the following two statements, both of which cannot be true but both can also be

54.
false. Which are these two statements? = a1 FeHl # @, o G191 Fu+ T 181 81 dod
& u¥g Tl s ft 81 Wdhd 2 | 98 S HUA B A 87

I. Ali machines make noise a9 79 IR T

Il. Some machines are noisy HY A IR H E

Il. No machine makes noise ®1g A AN IR TE B B ,.

IV. Some machines are not noisy ®Y HIH AR A8 dEh 8 ;
@i &Il (B) Il&IV (C) 1&1I D) H&W

Insert arithmetical signs in the equation for it to be correct 8 4 2 = 16.

55.
42 =16 whie &1 w8 e @ forg B # 9 fw s et @ siftse s oy 2

é +, X B) -+ (C) ++ D) +,+

56.  If afg 84x13=8, 37x13=6, 26x11=6, then d 56x22=7

(A) 3 B) 5 A7 uh D) 9
-

L




' Iff ; aoone divide, y
e of 9+3--4.8y5 NS~ + means multiply and —'means plus, then find the

SN+ 3y |
ﬂyg+3+4-8x2 o W im Frrsr, x @1 318 -, + 7 ot o afe — @1 3ef GirEan w

,\ELF}_?&H#QLE
-yl e
18 s

-:g___-

15 <.
o BTNy
58. Emd the next term ot L@ (D) 20
the Sequence 1, 8, 4, 27, 9, ... g &1 A= ¥ A ard

el ST BT G

w 8 (8 5
59. David divideg ?8] b 3 € 64 B . 18

am ¥ AT BN 44 Srear % 2?{“-?"“3! adds 11. What number he gets at the end? 3fds 78 @1

n) 50 PULE T A g ar AT Je? S
( (B) 44+ @ i o0 ok

. In a knoc . \
ﬁmber A matt:;hkout footbal Competition 23 teams participdted. What was the Ieasj__.i-i-
e o ?fm'?E#tTey Neéeded to play to decide the winner? va “sid—amase” W\
N T TSR | &1 i 1 fave 1 Fokr ot & forg &9 & 9 fove
(A 11 (B) 21 @ 22 (D) 62
61. At half past 5 in the evening, the smaller an [

; » In the e gle between the hour & minute hands of
aclock is ¥ ®f 530 qo1, TS & b2 3w frre @ @iet & 4 @ vrer a7 & &\,

""L_

A) 10° Bl 12" ) e (D) 18° e
62.  Fill in the blanks e w1 Ry : BAUBACBACEACBACBAC [\ Y
(A) AACB B) BBCA €Y ‘ccea (D) CBAC

63. Angles of a given triangle are in the ratio of 2:3:4. What kind of triangle is the given

friangle? few a1y fAior # BIoN @1 Iqu 234 & | B m B e yaR @1 Bew 22

(A) Right-angled HaHIT (B) _Obtuse angle aftrd Hrop 1o N
(C) Isosceles I L Acute angle = Hv| T
64, es of A and B face each other on a road going north-south, A's being on
the m:t:nh:jﬂz_ A comes out of his house, turns left, travels 5 km, turns right, travels 5
km to the front of D's house. B does exactly the same and reaches the front of C's house.
In this antaxt which one of the following statements is correct? A 3R B & =R -
mﬁwmaﬁggwmﬂﬁiﬂi$wmﬁﬂmﬁWAﬂmwiﬁ
' g AN ST 2 5 6. ot g Fen &, AW gEM R AR D B

IR | A oo BR @ aTER A |
wmﬁlsﬁﬁga%mé’rﬁm%aﬂ?Ca%ma%mﬁqgﬂ
R$ wpry oo 5 . 9 3 @y o T T8 &2

L e 3 e A
*éimmontheﬂmaﬂrﬁcaﬂqn?ﬁrmwm%

' @l
c*anuusafaces;“g';mmmapancmDaammmam@mg
Houses of C & D81 "0y & g e s




0 BEM, DGJ, (7). BJO, GLO. INS. 7

(A} FLA B) Fis (C) FKO @ FRL
i HVGT.FREP?
K. | @ o.n € ¢€0 ©) LK
43:10::8:7

: 7
(A) 10 (B) 13 @ 17 D) 14

68 If TOUR is writéri as 1234, CLEAR 18 Writlen as 56784 and SPARE is writien
A5 DOB47 find the code for CARE » TOUR #1 1234 U wrm 8 CLEAR #7 56784 fore
e B ot SPARE 2 gose7 firem aem # &t CARE #1 IS To B 7

(A) 1247 (B) 4847 (C) S247 M) sea7
(] AL _

under the same rule. #itafas sy # CALANDER # CLANAEDR farem wmem & | ¥
FHHIEER. CIRCULAR #1 e smom

(A)  LACANDER &) CcrUCALR
(C) CLANADER (D) None of these guaiasy & & 31 8

70.  (a) Either he Is happy or he is poor. 71 1 a8 T 2 a7 2= 7o & |
(b) He is happy. a7z g 2 |
Inference : He is poor. s %= - a8 e 2

(A)  The inference is definitely true si=pT™ gofaa & 2
(B) The inference is definitely false 3 Plom: =g 2

(C) The inference is probably faise or true #r w7 3w a7 T 2
,. " The inference can not be drawn s 8 @ o1 o 2

71. fa;mmmmmmm@-wmmammmmg,
(b) Hard working people are honest #z= a7 sor2w 21 2|

Inference: Hardwurhisthenecessaryqualitycfagoodteamﬁ.

I - AT 0% e (w1 Aawe e & |

(A) The inference is definitely true = iae: w3 2

(B  Theinference is definitely faise s w1 ofmg swven 2

L‘é; The inference is probablyfalsenrm;eﬂqmmﬁ FEY W EHT B X

(D)  The inference can not be drawn s =& Bz =1 9&T 2 b

72 Basedanthefollowingsiatemern,msﬂ'lewm

Pt #oml 7@ % FMR W 21 9 58 Frotfes & a0 &2 s
Oniy gentiemen can become members of the club, mdﬁ: muvh;:t‘
officzrs. Some of the officers have been invited for dinner. o IV TN
7 wod &) gfwtn s 3 v aREW #) 3y FRF T B I I R I

e £ | o
‘A) Al the members of the club have been f’"_’_fmrau-rﬂiﬂ




T Y At ooy oy #
Some of the officers are not gentlemen mw s v woor qow af
‘ All gentlemen are members of the club #f! s qew e & jr-:m h

(D) rf_C;'r'll*e.f gﬂntiamen have been invited for dinner ®aa ¥ ot w2
] T R

73 e I;‘I a family there are husband, wife, two sons and two daughters. All the ladies were
invited 0 a dinner. Both sons went out to play. Husband did not return from office. Who
was at home? v uyfigm o oftr, u=ft & g e 21 gfywi # i g

| ¥ afged ww AIEES
LLEL) off | HE O W8 Qe ¢ o | ufy watera | siter T8 o opeaier iy

(A)  Only wife was at home #aa us| we qv of
(B) Allladies were at home ¥l sfgard vy uv o

{ . Only sons were at home @aa = ¥y uv o
D Nobody was at home BY 47 @1d w1 e

74. I Ais the son of Q, Q and Y are sisters, Z is the mother of Y, P is the son of Z, then
which of the following statements is correct? af2 A, Q &1 95 2 Q ok Y a8+ &, Y& 01 2
BPZE YA & o et A | ®19 w1 sy gf) 27

@P is maternal uncle of A; P, A @1 571 £ (B) P and Y are sisters: P afiz Y a2 &
(C)A and P are cousins; A3t Paay wid # (D) None of the above; 599 & #15 =&

75. There are 5 books A, B, C, D & E placed on a table. If A is placed below E, C is
placed above D, B is placed below A and D is placed above E, then which of the following
books touches the surface of the table? U& A9 R 5 Uwid ! 78 § ofe A HE & =
@ AT & C BT D & HUR @ T £, B B A D A W@ T 2, D HEF G @ AR

g ot # @ qE A9 B ga B w9 ol 7
(A) C @ B (C) A (D) E

76. ‘To decamp’ would mean:
(A) To remove tent B) , To evict campers
(C) To decrease pressure . To leave suddenly

77, Which pair is wrongly matched?
B) Gamut:Whole

. . te
(A) Discreet : Separa Allude ‘Escape

(C) Exacerbated : Increased .
78.  |dentify the correct pair:

‘ (B) Allude ; Escape
e : Doce (D) Latter ; Afterwards

(C) ..Forbear

79+ A devil's advocate would be: |
: @ A counter argument presenter

% :;’n evgtgec:fs ;nc,--,mmai (D) Unregistered advocate
voc



Satish heard it from the horse's mouth MEARS:

80
\.? " From an authoritative source  (B) :m:m:"'m

(©)  From the closest family member (D)

81 Satish is seated _ Sunita.

(A)  Besides ®) Beside (C) Cleaty (D) Closest

82.  Identify the incorrect pair:

(A) Moot :Debatable
(C)  Regimen : Prescription

+ Singularly : Individually
(D) Sever: Detach

83. ‘I haven't studied a lot lately'. Here, ‘lately’ is a/an
‘_@ Adverb (B) o ’i'ﬂ'tdi'BCﬁVB (C) Noun (D) Preposiﬂon ' f"

84.  Which sentence of following is correct? 4
85. Identify the incorrect sentence:
(A) None of the minutes was wasted.
None of the time was wasted.
Is any of the pizza left?
None of the above.
86. Among the two statements:

(i) Either Satish or Sejal takes out the garbage.
(i) Each of these prescriptions have side effects. ,

(A) Both are correct v@?} is correct, (ii) is incorrect
(C) (i) is incorrect, (ii) is correct (D) Both are incorrect.
g87. Choose the sentence that has incorrect form of words: ,

When will you bring you're pictures to work?
It is your responsibility to go into details.

C) Ifyou're planning to attend, do let me know.
(D)  None of above. \ - Y
gs. | herspeak on Friday night about the advantages of organic gardening,
(A)  will have heard (B) wi \
(C) would have heard <O wi
8. Choose an incorrect/incom|
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D) Clever reply
0 Q< ¥ b
» —— N takan restaurant tomght
:\:‘ YOR 1= I

Are yOu Rking
You Bke .
-3 : & Woura you hke

EXLUSE e, e - ) ne pleass”?

\_H‘:I_E-'a-»:- S ';‘-.!"I.afﬁ

Have you got the D) What

He iikes reading. He was 3 reader. (Fill in the best fitting word)
Anoous B) Enthusiasthc C) Voracious (D) Fervent

j remember | was (aken 10 he museum
remember being taken 0 the musaum by my sister
":‘:*""‘ mher myself being taken to the museum by my SiSter
= e y= L~ - ; b h
remember taken ta the museum by my sister
: ThEN T -

hreast of Means:
breas!

(B) To praise oneself

» 10 gan prot A (D) To destroy everything

4 height ) To be honest
To have a goo~ == (D) To be beautiful

To have no deds
: be corrected means.

That which can™ 8 Indelible
UnintelligiDie " Incorrigible
g the is called:
S‘mte In M.I F 'h D@rmy
Monarchy (D) Autocracy

Plutocracy
15



